R&R Diagnostics and Repair

2801 92 Ave

Dawson Creek BC V1G-0G2

(250) 467-2304

accounts.payable@rrdiagnostics.com

www.rrdiagnostics.com

GST/HST Registration No.: 76896 7317RT0001

Business Number 768967317 RT 0001



INVOICE

BILL TO

REG NORMAN TRUCKING

DAWSON CREEK BRITISH COLUMBIA

INVOICE

4853

DATE

24/02/2023

TERMS

Net 30

DUE DATE

26/03/2023

			25/00/2025		
DATE	ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT
22/01/2023	VEHICLE DESCRIPTION	YEAR: MAKE: JOHN DEERE MODEL:444J UNIT: 98 SER. JZ592098 ODO. N/A HRS: 9164 PLATE # X7-4699	1	0.00	0.00
22/01/2023	CUSTOMER REQUEST	INFRAME ENGINE AS PER CUSTOMER INFORMATION.	1	0.00	0.00
22/01/2023		RECIEVE LOADER AND PARTS, DEGREASE ENGINE AREA AND ENGINE, DISASSEMBLE ALL SIDE PANELS, REMOVE RADIATOR, ALL HYDRAULIC LINES TO FAN AND COOLERS, REMOVE EXHAUST, DRIVELINE, ENGINE MOUNTS AND REMOVE ENGINE FOR REBUILD, STRIP ENGINE DOWN AND REMOVE ALL FRONT GEAR TRAIN TO RESEAL FRONT STRUCTURE CLEAN BOTH MATING SURFACES AND RESEAL, REMOVE REAR BELL HOUSING CLEAN BOTH MATING SURFACES AND RESEAL REAR STRUCTURE, REMOVE HEAD AND CHECK VALVE DEPTH AS WELL AS CHECK FOR CRACKS, ALL CHECKED OUT GOOD, CLEAN HEAD FOR REASSEMBLY, REMOVE PISTON AND LINERS,	34	165.00	5,610.00

		INSPECTION.			
31/01/2023	SALES	LOCTITE 515	3	46.10	138.30
31/01/2023	SALES	ENGINE OIL.	20	13.00	260.00
31/01/2023	HOURS	INSTALL CRANK WITH NEW BEARINGS, INSTALL LINER AND PISTONS, INSTALL FRONT GEAR TRAIN AND TIME, REASSEMBLE HEAD AND COMPLETE VALVE SET, INSTALL OIL PUMP AND OIL PICK UP TUBE, INSTALL OIL PAN, SET ENGINE BACK INTO LOADER WITH NEW MOUNTS AND BOLTS, INSTALL NEW FUEL TRANSFER PUMP, ALTERNATOR, RADIATOR PACK AND REPLUMB LOADER, INSTALL DRIVELINE WITH NEW STRAP KIT, FILL WITH OIL, COOLANT AND NEW FILTERS, AIR/OIL/FUEL, WIRE COMPONENTS BACK TO ENGINE HARNESS	30	165.00	4,950.00
31/01/2023	SALES	COOLANT	30	9.60	288.00
31/01/2023	SALES	HYDRAULIC OIL	80	18.30	1,464.00
31/01/2023	SHOP SUPPLIES		1	1,056.00	1,056.00
01/02/2023	DESCRIPTION	LOADER STILL DIDN'T START.	1	0.00	0.00
We know you have choices.		SUBTOTAL			13,766.30
We appreciate your business! TERMS: A late payment charge of 3% per month compounded monthly (36% annually) from the		GST @ 5%			688.32
		PST (BC) @ 7%			963.64
invoice date may	timy (30% amusiny) from the be applied to accounts that hav ull by the payment due date.	e TOTAL			15,418.26
Thank you,		BALANCE DUE			\$15,418.26

REMOVE CRANK FOR

R&R Diagnostics and Repair

R&R Diagnostics and Repair

2801 92 Ave Dawson Creek BC V1G-0G2 (250) 467-2304

accounts.payable@rrdiagnostics.com

www.rrdiagnostics.com

GST/HST Registration No.: 76896 7317RT0001

Business Number 768967317 RT 0001



INVOICE

BILL TO

REG NORMAN TRUCKING DAWSON CREEK BRITISH COLUMBIA INVOICE

5056

DATE

08/03/2023

TERMS

Net 30

DUE DATE

07/04/2023

DATE	ACTIVITY	DESCRIPTION		QTY	RATE	AMOUNT
08/03/2023	VEHICLE DESCRIPTION	YEAR: MAKE: JOHN MODEL: 444J UNIT: 98 SER. JZ59209 ODO. N/A. HRS: 9176.9 PLATE # X7 46	1	0.00	0.00	
08/03/2023	DESCRIPTION	TROUBLE SHOOTING LABOUR TO REPAIR LOADER AFTER ENGINE REBUILD. HAD OVER 90 HRS LOGGED AGAINST THIS JOB. REPLACE HYDRAULIC FILTERS 2 TIMES AS WELL AS FLUSH HYDRAULIC SYSTEM. TRANSMISSION OIL HYDRAULIC FILTER TRANSMISSION FILTER		20	165.00	3,300.00
08/03/2023	SALES			1	0.00	0.00
08/03/2023	SALES			17	18.30	311.10
08/03/2023	SALES			2	106.40	212.80
15/03/2023	SALES			1	0.00	0.00
15/03/2023	SALES	BATTERY		2	187.09	374.18
We know you hav	e choices.		SUBTOTAL	es and the test and test that the test and all the test		4,198.08
We appreciate your business!			GST @ 5%			209.91
TERMS: A late payment charge of 3% per month compounded monthly (36% annually) from the invoice date may be applied to accounts that have not been paid in full by the payment due date. Thank you, R&R Diagnostics and Repair			PST (BC) @ 7%			293.87
			TOTAL			4,701.86
			BALANCE DUE	THE SEC SEC. SEC. SEC. SEC. SEC. SEC. SEC.		\$4,701.86